
Accentra 52i Service Rail Kit
Part #1-00-574354

R:\Todd\Instruction Sheets_3-89-574354www.harmanstoves.com

Packing list:
(1) Scissor Jack
(2) Service Rails
(8) 1/4-20 x 3/8 - Rail Bolts
(2) 1/4-20 x 1-1/2 - Wingscrew w/collar
(2) 1/4-20 Wing Nut

1/4-20 x 1-1/2 - Wingscrew w/collar (2)
1/4-20 Wing Nut (2)

1/4-20 x 3/8 - Rail Bolts (8)

Scissor Jack (1)

Service Rails (2)


